

Stochastic Differential Equations with Solutions

Stochastic Differential Equations

We consider the model as the parametric Itô stochastic differential equation :

$$dX_t = \mu(\theta, t, X_t)dt + \sigma(\vartheta, t, X_t)dW_t, \quad t \geq 0, X_0 = \zeta \quad (1)$$

where $\{W_t, t \geq 0\}$ is a standard Wiener process, $\mu : \Theta \times [0, T] \times \mathbb{R} \rightarrow \mathbb{R}$, called the drift coefficient, and $\sigma : \Xi \times [0, T] \times \mathbb{R} \rightarrow \mathbb{R}^+$, called the diffusion coefficient, are known functions except the unknown parameters θ and ϑ , $\Theta \subset \mathbb{R}$, $\Xi \subset \mathbb{R}$ and $\mathbb{E}(\zeta^2) < \infty$.

Itô Lemma

$$df(t, x_t) = \left(\frac{\partial f(t, x_t)}{\partial t} + \mu(\theta, t, x_t) \frac{\partial f(t, x_t)}{\partial x} + \frac{1}{2} \sigma^2(\vartheta, t, x_t) \frac{\partial^2 f(t, x_t)}{\partial x^2} \right) dt + \sigma(\vartheta, t, x_t) \frac{\partial f(t, x_t)}{\partial x} dW_t \quad (2)$$

Solution of SDE ¹

<i>SDE</i>	<i>Solution</i>
$dX_t = \alpha X_t dt + \beta X_t dW_t$	$X_t = X_0 \exp\left(\left(\alpha - \frac{1}{2}\beta\right)t + \beta W_t\right), \quad X_0 > 0.$
$dX_t = (\alpha X_t + \beta)dt + \lambda dW_t$	$X_t = e^{\alpha t} \left(X_0 + \frac{\beta}{\alpha} (1 - e^{-\alpha t}) \right) + \lambda \int_0^t e^{-\alpha s} dW_s.$
$dX_t = \left(\frac{2}{1+t} X_t + \beta(1+t^2) \right) dt + \beta(1+t^2) dW_t$	$X_t = \left(\frac{1+t}{1+t_0} \right)^2 X_0 + \beta(1+t^2)(W_t - W_{t_0} + t - t_0).$
$dX_t = \alpha X_t dt + \beta dW_t$	$X_t = e^{-\alpha t} \left(X_0 + \beta \int_0^t e^{\alpha s} dW_s \right).$
$dX_t = \frac{1}{2} \alpha (\alpha - 1) X_t^{1-2/\alpha} dt + \alpha X_t^{1-1/\alpha} dW_t$	$X_t = \left(W_t + X_0^{1/\alpha} \right)^\alpha, \quad X_0 > 0.$
$dX_t = \frac{1}{2} \alpha^2 X_t dt + \alpha X_t dW_t$	$X_t = X_0 \exp(\alpha W_t).$
$dX_t = \frac{1}{2} (\ln \alpha)^2 X_t dt + (\ln \alpha) X_t dW_t$	$X_t = X_0 \exp(W_t \ln \alpha), \quad \alpha > 0.$
$dX_t = -\frac{1}{2} \alpha^2 X_t dt + \alpha \sqrt{1 - X_t^2} dW_t$	$X_t = \sin(\alpha W_t + \arcsin X_0), \quad X_0 \leq 1$
$dX_t = -\frac{1}{2} \alpha^2 X_t dt - \alpha \sqrt{1 - X_t^2} dW_t$	$X_t = \cos(\alpha W_t + \arccos X_0), \quad X_0 \leq 1$
$dX_t = -X_t(2 \ln X_t + 1)dt - 2X_t \sqrt{-\ln X_t} dW_t$	$X_t = \exp\left(-\left(W_t + \sqrt{-\ln X_t}\right)^2\right), \quad X_0 \leq 1.$
$dX_t = \frac{1}{2} \alpha^2 m X_t^{2m-1} dt + \alpha X_t^m dW_t$	$X_t = \left(X_0^{1-m} - \alpha(m-1)W_t \right)^{1/(1-m)}, m \neq 1, X_0 > 0.$
$dX_t = -\beta^2 X_t(1 - X_t^2)dt + \beta(1 - X_t^2)dW_t$	$X_t = \frac{(1+X_0) \exp(2\beta W_t) + X_0 - 1}{(1+X_0) \exp(\beta W_t) - X_0 + 1}.$
$dX_t = \frac{1}{3} X_t^{1/3} dt + X_t^{2/3} dW_t$	$X_t = \left(X_0^{1/3} + \frac{1}{3} W_t \right)^3.$
$dX_t = -(\alpha + \beta^2 X_t)(1 - X_t^2)dt + \beta(1 - X_t^2)dW_t$	$X_t = \frac{(1+X_0) \exp(-2\alpha(t-t_0) + 2\beta W_t) + X_0 - 1}{(1+X_0) \exp(-2\alpha(t-t_0) + \beta W_t) - X_0 + 1}.$

1. Aarsalane GUIDOUM.

Department of Probabilities & Statistics.

University of Science and Technology Houari Boumediene.

BP 32 El-Alia, U.S.T.H.B, Algeria

E-mail : starsalane@gmail.com

URL : <http://www.usthb.dz/>